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One who refuses does not receive K’nass - DI RY 779 IR NINBRT

Overview

A minor girl (under the age of twelve), who has no father and was married off by
other family members, can dissolve the marriage by merely stating that she refuses
to be with her husband. This refusal 1s called 1%». The Xn>92 teaches us that a
nixnn, does not receive 01 is she was forced or seduced. There is a dispute
between "1 and N190N as to what the X172 means.

>"w9 explained that the reason there is no 0ip for a niXnn», for she is in the
presumptive status of a 57972, and the 03p 271 is only for a 7202 —

n1voIN asks on >"wA:
= 1Y NN NnYya MLP NN 31)3‘,77 227 22°0 12 ORT PHY 19%34Y Y

And the *''1 has a difficulty with >""v"5, for if indeed it is so (that someone [else]
was DIXn (or 11nd») her after the 11X7»), how does the X 21 later infer from this

Xn>732, ‘but a ‘regular 73vP receives ©ip’, how can we make such an inference -
- Y SN NAYY DY) XN P09 NODWD 195y X3 BN DI 1Y PR NINDND WING 297 NRDT

Perhaps this is what the Xn>>71 means when saying that the nix»=n has no ®1p, in a
case where he came upon the nixnn later, when she was a 17w, she does not
receive DI since she is 7172 npmna. The inference would be, ‘but a ‘regular’ 792
(not one who was previously a NIX»») receives o1 —

mMooIN anticipates and rejects another possible difficulty with >"w9%s:
- YN *NONY YN Y VPIMIY N NN NMINNN VPI INNN MYPNY PN 1N

Ppx o'

* A 793 is a woman who is no longer a 79)02 (a virgin). *"wA is interpreting the Xn»92 in the case where the 1vp
was jX&nn, and someone was DIRA (or 7n91) her after the 1R°». We assume that this 71vp had marital relations with her
husband during their marriage, before the 128", therefore she is a 7212 (not a 791n2) and not eligible for o3p.

3 x,0. A nRmn is by necessity a 1vp. The &1 infers that the niaxm»n (who is a 73vp) has no 03P, but a ‘regular’ mivp
(who is not a nixnn) does receive 0ip (even though she is not a 717y [which is written in the p199]).

4 Why should we assume that when the Xn>12 states 01p 72 X NIRM», it means that he was 710971 011 her when she
was a muvp, perhaps the Xn°72 meant that it took place later when she was a 7171, so there is no proof that a 7vp
receives 0Ip.

5 This is referring to a woman who had X1 also, after her (P01X) Pw17p. Once a woman had 1RW°1, we assume
her to be a 719w2 (and she will not receive o3p if she was 0ix1 after her divorce). According to >"w that the reason
0Ip 12 X NIRMn is because since she was married (7RW3), she is 7212 NP2, so why limit it to a naxnn, the Xn>>92
should have stated that any woman who was a 7XW1 is considered a 71732 and does not receive 0lp. This is the
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However, we cannot ask, why does the Xn»2 mention that a niX»» has no 0ip; the
Xn™12 should have stated, ‘any woman who was married and divorced has no o1p’ -

MooIn responds that this is no question:
- S0P 1Y PR NYNNN NDINDI DN ITPANT (x,n5 97 YIPY IINT NIV NIIN NNT

For later there is one opinion who maintains that even if there was only 1°01°R
and she was divorced, she still does not receive 21p.

mooin offers his interpretation:
= N9 XY DIP XY 1Y PN IWITO 9917 PNXY 13939Y NI

And it appears to the ' that this is the explanation of ‘the nix»n does not

receive neither 91 nor "1ns’; it is a case -
= N DNP PHNH NNNIYI NN N IN NHYA NUIN ON

Where the husband forced her or seduced her when she was married to him

before the I8, so -
- YR AN RYY RNDD INIIIN MINDWAT 22 Y 9N

Even though when she was nixn»n, it was revealed retroactively that she was not

his wife when he was 01X or 7ino» her, nevertheless she does not receive the 01p -
- 1Y SN NRYYA MV NN PV AW P9 NHY)

So now that the case of niIX»17 is where he was nom1 01Rn before the 13, when
she was still a 71vp, the X713 later rightfully infers from this ruling of niaxnna, that
by a ‘regular’ /mup, she receives the 017 if someone was DI or 7no» her —

n1voIN asks:
— 8‘[1}:0: ANPT NN PHY 139290 NYP HaN

question we seemingly could have asked on >"w"5.

6 See X"wAn. We could say that the Xin of this Xn°72 also maintains that 017X 71 7w a1 has no 01p. He derives it
from the 2’105 both by inon (in 10,23 [D°wown] NMY) and by DR (in 113,25 [X¥N] 0*127) which states TWIIR X? WK;
indicating that (even) if there was (just) 7°017X, there is no 01p. However, this would be considered a 21n2i7 n7°13, so if
the Xn>12 would state, 03P 772 1R POIRA T2 TWIANL, we would say that (since it is a 231577 1) it would not apply to
a nIxmn, who, n"nn, is not considered married at all. Therefore, the Xn>12 teaches us that by a nixnn there is (also) no
017 (not because of a P10, but rather) because she is 772 npma.

7 pxen accomplishes that the marriage is completely annulled retroactively; it is as if they were never married.
Seemingly she should receive the 01p, since now we know that when he was 1inom1 01X» her, she was not his wife (for
she made 1X°» later), nevertheless she does not receive Dip since when he was 1ind»1 0IR% her, she was his wife.

8 X,%. The xn3 there had a difficulty how to establish the Xn*>72 of ©Ip 77 1K nivmn. The 11297 maintain that a 719p
receives 01p, while n"1 maintains a 710 does not receive 01p. The Xn»"2 cannot follow the view of 1" since we can
infer from 03P 777 1°% NaXnn that a ‘regular’ 71vp does receive o1p. It cannot follow the 1127, since the Xn12 states that
12K has no 01p. The X3 attempted to answer that the X012 follows n'" who agrees with " that a 7791 can also
be Xmn, and the &n»71 is discussing a Naknni 77v1, that she does not receive 01p, but a regular 777¥1 receives 01p.
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However, the >'' has a difficulty from this which the X773 states shortly -
= 7907 %295 1Y 920 NINHNIY NN 9NN 29 NDID NN )

‘And if you will say the entire Xn>>72 is according to %'', and by nix»n» he (»''9)
agrees with >''’-

- 11N 919 AR W Ny XoNWS NV NOYY NAY S9INT 11 IRNYM
But now since the case of nik»nn is where her husband was with her when she

was a ;11¥1, she can no longer be jxm»» -
= (oW .82 1) P20 N2 7992 9INTI Hyaws NTIN% %29 NTINT

For, as the X713 states in 120 X2 P92 that '3 admits that if he had relations with
her when she was a 771 that she can no longer be X1 —

N190IN answers:
- Z1wi1m oYY Hyna 19XY RITHA WY 59957 PN 13539 X0

And the >''9 answered that it is in a case where he explicitly stated that he is

not being Y12 for the sake of w7op -
SN 229 NN KD NINNAT NIN PYITP OVUY IND DINY 1109% By

And additionally, »1n°2 and ®1I8 are not for the sake of 12Y75p, so in that case,
''% does not admit that she cannot be jx¥»n when she is a 7773, but rather she can be 1x»7.

Summary
According to *"w1 the 01X Mn%® took place after the 11X, while according to

MooIN it took place before the 1XM.

Thinking it over
1. Why did the X3 (later) assume that the vw of the Xn*72 is like NBOIN (so we can

infer that D17 715 X 71vR), but not like *"2A (so we cannot infer that 01p 79 n°X 7wR)?*

? According to *"w" that the "1n*91 01X took place after the 13%°», there is no difficulty; she was ®»» when she was a
77¥1, and someone was 7iN5MY DIRA her.

10 According to mooIn the rule of 01p 72 PR NINMAT, is where he was finom 0ixn before the . We will have to say
(that if n"9 agrees with "1 that a 77¥1 can be 1¥7) that he was 1inom1 01k when she was a 771 (before 1&). [It cannot
mean that he was non 01X while she was a 7vp, for then even a ‘regular’ mivp will not receive 03P (according to "),
therefore we must say that we are discussing a case where he was nom1 011 when she was a 71, before NX7.]

" Once she is a 73, she is a 17173 and the %°2 makes her N w7 to her husband, and she can no longer be xm7.

12 Therefore, she is still not nwTPn to him 0", and she can still be 1x1n (according to ).

" The '1yY' maintains that it is not necessary to establish this in a case where he explicitly stated that the 7X"2 was
not PYITP awY, but rather since the 7X°2 was in a manner of "N’ DI, it is self-understood that it was not aw»
w17p, without him needing to say it explicitly. See ‘Thinking it over’.

1 See footnote # 4.
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2. Moo writes that by "0 01K it is PwITP awY 1K%." This may be self-evident by
o1X, however why should we assume that by *1n°0 it was PR TP ows w921

15 See footnote # 13.
16 See nx21pn oW
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